BIC

Relative Probability

107°107*1020.01 0.1

Window Half—Width (km/s)

2x10° 5%x10° 10%

10

10 100

1

100 1000 10*

10

rm9o41 xz/(406839—5078)=0.881

L B S S B R e e e B
i BIC 419712.62 ABIC 0.000 AlogP 0.0000 ]
s X% 354124.31 Ax? 0.000 AlogP 0.0000 -
e - .- .- .. .. . . —T.T-.——. - .. . - . T .T . .T ... ... —Q—.—Q/—.-—.—

5078
A

R R N S S E S |

5 10 15 20 25 30
30 iterations
rm941 xz/(406839—5078)=0.881
5L L B S R | L L e AL A
F BIC 419712.62 ABIC 0.000 AlogP 0.0000 §
3 )'(2' 354124.31 'Aj(z 0.000 "AlogP "0.0000 3
= 5078
R R R L R R -
E., . vy P RS S S L R I
5 10 15 20 25 30
30 iterations

Fe2 3% 0+0 km/s
rm941 BLR 3000 NLR 900 km/s
Fr— T T T T T T L L e AL A
I 5078 ]
L A i

R R N S S E S |
5 10 15 20 25 30

30 iterations

BIC

BLR

NLR

kdh1 15-0ct-2021 20:18



